


Remarks from the typesetter

TS1 Please note that the corrections of values are not language changes. If you still insist on changing this value, please provide an explanation for why this needs to be changed. We will then ask the editor for approval. Thank you.
I have double checked the number.  This is a typo.  The actual value for RMSE shall be 0.32.  The value for absolute error is 0.27.  I wrote down the absolute error value as the RMSE value by a mistake.   Please revise “a RMSE of 0.27“ to “a RMSE of 0.32”


TS2 Please provide an explanation for why this value needs to be changed. We will then ask the editor for approval. Thank you.
I have double checked the number.  This is a typo.  I forgot the minus sign.  Please change “an offset of 0.06” to “an offset of -0.06”

TS3 Please provide an explanation for why these values need to be removed. We will then ask the editor for approval. Thank you.
I have double checked the number.  This is due to a typo as well.   “and offset from -0.12 to -0.09” shall be “and offset from -0.06 to -0.09”.  I meant to compare intercepts from Figures 5d and e.  I compared intercepts from Figures 5b and e by a mistake.   Thus, this sentence becomes irrelevant to the associated discussions.  Please correct my typo/mistake by rewriting the sentence:
“slope from 0.80 to 0.95, absolute error from 0.14 to 0.13, and offset from -0.12 to -0.09 were found, along with a reduction of RMSE of 10% and a data loss of ~13%.” 
to 
“slope from 0.80 to 0.95, and absolute error from 0.14 to 0.13 were found, along with a reduction of RMSE of 10% and a data loss of ~13%.”


